2 & M A
20138 & =04k LBHeIH =X
fA: =SXNEERY
M SN0t S
Chel: AL XX (el =3
X o = 1% XI_-ILI;=1—||:— =<
SN FB - S2A(3) - MEAY - BES AroH i HRE2
=PARSESI, 445,358,361 395,710,354 49,648,007
= 292,604,156
= 967,995
= 151,786,210
sXolgtxd 10,698,780 10,636,564 62,216
= 5,228,625
= 5,470,155
A2 S XX 10,698,780 10,636,564 62,216
= 5,228,625
S 5,470,155
SANHEZ20F HRFX 74,200 72,700 1,500
201 224 27,000 27,000 0
01 AR 2telH] 27,000 27,000 0
Ogetd &=t 27,000
203 ¥Rl 47,200 45,700 1,500
03 AR FAH 2| 47,200 45,700 1,500
OAtzI=Xge =& 47,200
MBI EXALY E4d3 X2 340,000 296,600 43,400
307 212+01 A 340,000 290,000 50,000
10 At S X2 & 340,000 290,000 50,000
OE=AM=AE2e 29 210,000
OMal=EXEs223 X 90,000
OoZodzcdy3s 2Y 40,000
AMEI =2 X AL HES 10,000 0 10,000
307 212+01 o 10,000 0 10,000
10 MBI SXIEx 10,000 0 10,000
Os=82tAe =X A3 10,000
A2l = X121 &tots =Ml 8,000 8,000 0
308 AtXIHMSO0I A 8,000 8,000 0
01 HIXHHBLEEXS 8,000 8,000 0
OAtslEXIe & D 8,000
M EXAIE X2 100,000 100,000 0
301 et at= 100,000 100,000 0
01 Al 2EH =613 100,000 100,000 0
OAM3IZXIAIE M 100,000
MBISXAIESAL T2 175,470 166,680 8,790
307 212+01 ™ 175,470 166,680 8,790
10 A2l SR 22X 175,470 166,680 8,790
OAM3IZEXAIE SAL e XA 175,470




SN =XEHDY
M STIIBEN

Ee s A EXXA (cte &
S EH . S(BH) - NEAY - B2 0fl Ak o gggf; HDE2
ANZASEXNANESAX RS 2,832,955 2,797,056 35,899

308 AXSHHSOIA 2,832,955 2,797,056 35,899
01 AXIEMBAERS 2,832,955 2,797,056 35,899
OANZ MIAEXNANESAA HRFE 2,832,955
HOIR2HAETAE 2HXA 131,400 131,400 0
308 XX SISO A 131,400 131,400 0
01 MIXIEHEANEEXS 131,400 131,400 0
Ofeldg=eiAeEd2gid 131,400
SHOIAE K& 3,263,272 4,255,429 N992,157
= 2,282,515
== 980,757
308 XX SHHSOI A 3,210,000 2,673,441 536,559
= 2,247,000
& 963,000
01 AXIEMBAEEZ 3,210,000 2,673,441 536,559
OBH0IANLE 24H| K& 3,210,000
= 2,247,000
= 963,000
403 XXM S AH=20| A 53,272 1,581,988 N1,528,716
= 35,515
= 17,757
01 AXEH A28 X 53,272 1,581,988 N1,528,716
OReANE JIsEL 53,272
= 35,515
& 17,757
A2 AISIEXNSEANHANERS Q12| 752,063 730,072 21,991
= 578,510
& 173,553
308 AXHAMSOIA 752,063 730,072 21,991
= 578,510
= 173,553
01 IXIEHBAEXZ 752,063 730,072 21,991
OANZ2 AN 2N ESEAHEATESRA 21AH| 752,063
= 578,510
& 173,553
S2SANISHAH A 2,481,420 1,342,377 1,139,043
= 2,367,600
= 113,820
308 AXHAMSOIA 2,481,420 1,342,377 1,139,043
= 2,367,600
& 113,820
01 IXIEHIBAEXZ 2,481,420 1,342,377 1,139,043
OAtdI 22l AFE 29H| X 94,320
= 78,600




SN

SX &2

Y X0 H
o2l AISIS XX (ctel: &
_ _ _ HET
A -3 -H2A(SH) - HEAMY - BES (il & OH Ofl At ot HwsZ
[ 15,720
OXFE NA=X A e elAy| 2,387,100
= 2,289,000
[ 98,100
EYSCTEMNISTLE 2SN 420,000 393,000 27,000
307 BI2t0I & 420,000 393,000 27,000
05 QIZtREZ 420,000 393,000 27,000
OZHEC SEASNNMH 29 420,000
£ SXSE2MEH 29 110,000 110,000 0
307 212t0l ™ 110,000 110,000 0
10 MBI =X 110,000 110,000 0
Os= sNsg=ddy 23 110,000
Ots=XMEIAXIA 28,582,808 25,002,286 3,580,522
= 11,653,113
2 817,995
= 16,111,700
XIootE 2 S A Xl 28,582,808 25,002,286 3,580,522
= 11,653,113
2 817,995
[ 16,111,700
OISt XdZZIASH 11,671 11,671 0
307 2120l & 11,671 11,671 0
10 MBI =2 x 11,671 11,671 0
OotsHgeT2 22 11,671
OISEXIAESA X 5,000 6,500 A1,500
307 2120l & 5,000 6,500 A 1,500
10 MBI =X 5,000 6,500 A 1,500
OOtSEXAIEBAIR 214 5,000
OISAMSHLR5 L AL 38,500 38,500 0
307 2I2tol ™ 38,500 38,500 0
10 MBI SXEE 38,500 38,500 0
OO0l L&A 8,000
O=3X Ot=s2tgel g At 4,500
Olts=EXANLEE=2UHI=H 18,000
O0tSEXAE BURHEH 8,000
X OotSHE 2H X 5,848,787 5,568, 109 280,678
= 4,499,067
< 1,349,720
308 XX A SOl & 5,848,787 5,568, 109 280,678
= 4,499,067
= 1,349,720

w




SN SXEHDY
HH: OIS =X AUIATIR

£9: XGOSR E AR L
SN HB SR (BIH) - A - B S 0l &b S D=2
- cTo=m IO T ° - [EEMREECES &= 0:”/‘l|_% WS

01 IXNHHEMNEXLS 5,848,787 5,568, 109 280,678
OXNYotsdH2E XA 5,848,787
= 4,499,067
= 1,349,720

Ots= Xl A 1,428,367 1,388, 141 40,226
= 1,265,643
= 162,724

308 KX SHHMS0IA 1,428,367 1,388, 141 40,226
= 1,265,643
& 162,724

01 IXSHHBMNEES 1,428,367 1,388, 141 40,226
OOotsS=XAH(QI24H]) X 1,428,367
= 1,265,643
= 162,724

NHOISHE SHESCXAT 2 196,804 123,300 73,504
= 137,763
L= 59,041

307 2I2toI & 196,804 123,300 73,504
= 137,763
& 59,041

10 At2IS X2 X 196,804 123,300 73,504
OX<EotsdE sE3=2EX3H 24 196,804
= 137,763
= 59,041

K H0tsHlEH 8ot 24,720 30,000 25,280
= 12,360
L= 12,360

307 2I2toI 24,720 30,000 25,280
= 12,360
& 12,360

05 BIZtRIE 3 24,720 30,000 A5,280
OX<YotsdEH EIME 24,720
= 12,360
= 12,360

IEYAXA 919,647 507,528 412,119
= 850,320
< 69,327

308 AtXICHM S 01 919,647 507,528 412,119
= 850,320
L= 69,327

01 AIXHHMBHEES 919,647 507,528 412,119
(@FTR> a1 R=INE-.] 31,261
= 27,700
& 3,561
OZolsLLL=RELS 57,412
= 50,870




A SAEHL
3 Ots=SXNAMEIAXRA

S XHOISESAIAX EERE
- _ . NE
S EHB .S (BH) - HRAIY - B2 0 AF oA e HDZS2

= 6,542
OYANIS A TSR 2 830,974
2 771,750
= 59,204

QES0E 125 292 600,552 578,299 22,253
2 414,173
= 186,379

308 XHXISHAI S 01 & 600,552 578,299 22,253
2 414,173
[ 186,379

01 HXSHHBALED 600,552 578,299 22,053
OQE30ES1EE 29X 600,552
2 414,173
= 186,379

OISAIE JIsSEY 460,000 520,000 260,000
2 400,000
= 60,000

403 KHX|ISHRI S XH=2 0| & 460,000 520,000 60,000
2 400,000
= 60,000

01 RHXICHHI A 2 X 460,000 520,000 60,000
OOtSAIE JIs2Y 460,000
2 400,000
= 60,000

OISEBAMHIAS 3,600,000 3,000,000 600,000
2 3,600,000

308 XHXIEHH S 01 & 3,600,000 3,000,000 600,000
2 3,600,000

01 I SHHBAZEES 3,600,000 3,000,000 600,000
OOSESMHIA X 3,600,000
2 3,600,000

IS ANEES 42,210 43,750 1,540
2 29,547
[ 12,663

201 YEt2 Y| 42,210 43,750 1,540
2 29,547
[ 12,663

02 ZZ29| 42,210 43,750 1,540
OJIHQEOIE Asi2E2 N 42,210
2 29,547
= 12,663

0l S 2 X 2 | & 488,717 466,118 22,599
2 433,040
[ 55,677

308 XHXISHHI S 01 488,717 466,118 22,599




SN SXEHDY
HH: OIS =X AUIATIR

&Rl NHOISESAISXE (el &)
_ _ _ Muo
SN H - SR(EH) - NPAMY - BES 0il & o e HlE2
= 433,040
= 55,677
01 HXHHBLEEXS 488,717 466,118 22,599
OO0t & & X2 H & 488,717
= 433,040
= 55,677
IHEAE XM 23 277,154 238,812 38,342
2 138,577
= 138,577
307 2I2toI ™ 277,154 238,812 38,342
= 138,577
& 138,577
10 At S X2 & 277,154 238,812 38,342
O EAE XN HEH2 S 277,154
= 138,577
= 138,577
Z2HI|2 2H 209,340 199,370 9,970
2 104,670
= 104,670
307 2I2toI ™ 209,340 199,370 9,970
= 104,670
= 104,670
10 At S X2 & 209,340 199,370 9,970
oZ2al|223 209, 340
= 104,670
& 104,670
OlsEsSd=2II12 2¢ 1,149,496 1,094,759 54,737
2 574,748
= 574,748
307 212tol & 1,149,496 1,094,759 54,737
2 574,748
< 574,748
10 At S X2 X 1,149,496 1,094,759 54,737
OltSESHRII 223 1,149,496
= 574,748
T 574,748
Ots=RXAE 23 1,422,853 1,284,534 138,319
308 KX EHMSOIA 1,422,853 1,284,534 138,319
01 HXHHBLEES 1,422,853 1,284,534 138,319
Oots=XAIE 24(0l 1,422,853
YA 22 4,755 4,354 401
308 AtXI M SO0 & 4,755 4,354 401
01 HXNHHBESHEXZ 4,755 4,354 401
Ol 2H(01) 4,755




A SAEHL
3 Ots=SXNAMEIAXRA

Sel: XIS OIS S AR (Erol: & e)
] _ o ME & =
SN -3H - S2A(2AH) - NRAY - BE= Off &F OH Ofl At ot HusZ
ZEIHoIsES 166,320 166,320 0
308 Xt M S0 & 166,320 166,320 0
01 IR ZA XS 166,320 166,320 0
OZBINFOISES 166,320
AHAEINY L AIEEANE S U X8 486,000 486,000 0
308 X+l M S0 & 486,000 486,000 0
01 XIS AL XS 486,000 486,000 0
OAHAEIIE Y ALEANSS HEXE(0|
o) 486,000
OLS 34 UK (3DI5) 6,628,388 5,507,910 1,120,478
308 Xt M S0 & 6,628,388 5,507,910 1,120,478
01 RXISHZAEES 6,628,388 5,507,910 1,120,478
OOtS AU (8I]1F) 6,628,388
OtS3AX & 4,218,384 3,422,460 795,924
308 X+l £ HI S0 & 4,218,384 3,422,460 795,924
01 XIS AL XS 4,218,384 3,422,460 795,924
O0tSZAIXI2(01Y) 4,218,384
AEAEINE K@ 16,272 22,200 15,928
308 XXl £ M S0l & 16,272 22,200 15,928
01 XIS AEES 16,272 22,200 15,928
OAHAHIIE NA(01) 6,272
b ele ¥ 98,496 98,496 0
308 Xt M S0l & 98,496 98,496 0
01 ARSI Z A XS 98,496 98,496 0
OSSN (01Y) 98,496
AEOISE DA L 48H018HI X & 46,735 46,735 0
308 Xt M S0l & 46,735 46,735 0
01 HAHHBAEES 46,735 46,735 0
OANZOISEDMN ¥ 480{8HIXI 2 46,735
o IbH RIS MRIRIBRIEAY 16,000 13,280 2,720
= 11,200
= 4,800
307 Q12+0| & 16,000 13,280 2,720
= 11,200
3 4,800
10 AHBI =X 2 X 16,000 13,280 2,720
OYAINHASOLS NelXIZ X2 16,000
= 11,200
= 4,800

|
~
|




A SAEHL
3 Ots=SXNAMEIAXRA

Sl KOS B S AN & (el &2
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES O &t 04 il b o bRz
NAOLSHEl BAR ML X2 98,640 98,640 0
308 XHXIEHHI SO 98,640 98,640 0
01 IXISHHBAEES 98,640 98,640 0
OXIGOISHEl SAR X2 Habl X2 98,640
OFS = XAl LB AL S 6,000 0 6,000
201 Lt Y| 6,000 0 6,000
01 A2 22l 6,000 0 6,000
OOtS ST AT A AL E 6,000
SO0 U OIOFSXIZH KA X2 33,000 0 33,000
201 L2 Y| 33,000 0 33,000
03 & A2 2 bl 33,000 0 33,000
ORI 0] 3,000
ODIOHEXIZW M= 30,000
LS = XAl &Il & 40,000 36,500 3,500
403 XHXISHHI S XH 0| H 40,000 36,500 3,500
01 REXI SRR 2 & 40,000 36,500 3,500
OBZFOIS=XZ A&NH 20,000
OBF FoIY BZH 20,000
2Dz E2 508,300 301,950 206,350
= 150,000
= 358,300
BEHMT WL 508,300 301,950 206,350
= 150,000
= 358,300
BE20F YRR 20,000 5,000 15,000
203 R =T Y| 20,000 5,000 15,000
CEEREEESSY 20,000 5,000 15,000
ORE=20F 425 20,000
EHBRUNAY L EEIISDA 18,000 18,000 0
307 2I12H0| 18,000 18,000 0
10 MBI =X X 18,000 18,000 0
OSHEEMMAL L IS A 18,000
SR oA2H X 27,300 25,950 1,350
308 XHXIEHHI S 0| 27,300 25,950 1,350
01 IXISHBAEES 27,300 25,950 1,350
OSYRTX oEH 27,300
B=3 a2MY FEE A 300,000 0 300,000
= 150,000
= 150,000

|
oo
|




SA =X
. 2222
e EEUdA XA (ctel: &
SN I SRI(S) - NRAY - B 0fl b Soe B RS2
401 Al EHIZL 2OHY| 300,000 0 300,000
= 150,000
= 150,000
01 A& HI 297,840 0 297,840
OZ===sdZ=EEHE 297,840
2 148,920
= 148,920
03 A€ 2 01| 2,160 0 2,160
OZ=sl==adgxzdEAdE 2,160
= 1,080
= 1,080
EECMAA 123,000 33,000 90,000
307 212tol & 73,000 33,000 40,000
10 At S X2 X 73,000 33,000 40,000
OEstHd s=2=dX& 35,000
Os=dgdg M 7,000
ORMB3=E 6.2578 & A} 10,000
OFHREA AZ2AH L HYEA A2 13,000
OFH L 1550tL SFE A} 8,000
402 QI2tX=201 ™ 50,000 0 50,000
01 QIR E 50,000 0 50,000
ORE3Z Woe)| 8% ¥ 427 50,000
Het6. 258 MR BN ESSXNREMNMESSXE 20,000 0 20,000
201 Lpr2 | 20,000 0 20,000
01 AR 2 2ldl 20,000 0 20,000
OUe6. 28RBS ESEXNRE HMESSX
o 20,000
SO J=ME ot 165,557,442 153,625,350 11,932,092
= 151,663,406
, = 13,894,036
NASE M2 140,288,254 127,451,565 12,836,689
= 128,385,548
L= 11,902,706
ASEXXE A 2,343,131 1,903,411 439,720
= 2,343,131
308 XXM SO0IA 2,343,131 1,903,411 439,720
= 2,343,131
01 IXHHEBMNEES 2,343,131 1,903,411 439,720
O =X A 2,343,131
= 2,343,131
MASTHUENZ ety 29 106,400 106,400 0
308 AtXIEHSO0I & 106,400 106,400 0




A
I‘IiH:
C}—Ol:

SX &2

SA BB .S (BH) - MBEAY - B2 0fl Ak 04 gggf; SmE=L

01 AXIEMBIAEEZ 106,400 106,400 0
ONASXH EHE gdstuna 29 106,400

HRUZSOIXA 3,691,031 3,700,031 A9,000
= 3,691,031

308 AXSHHMSOIA 3,691,031 3,700,031 29,000
= 3,691,031

01 AXIEMBIAEEXZ 3,691,031 3,700,031 29,000
OJl=32 A L=3eoIX&A 2,747,907
= 2,747,907
OXAMKAAHES =280 XA 943,124
= 943,124

MASH K& 106, 160,576 96,758,498 9,402,078
= 96,481,596
= 9,678,980

308 XAHXIHAMSOIA 106, 160,576 96,758,498 9,402,078
= 96,481,596
== 9,678,980

01 IXIEHBAEXZ 106, 160,576 96,758,498 9,402,078
OMA=A 106,160,576
= 96,481,596
= 9,678,980

FH=0 XA 23,217,326 20,760,635 2,456,691
= 21,100,000
= 2,117,326

308 AXHAMSOIA 23,217,326 20,760,635 2,456,691
= 21,100,000
o= 2,117,326

01 IXIEMBAEXZ 23,217,326 20,760,635 2,456,691
OFAH20 23,217,326
= 21,100,000
== 2,117,326

nEes0 3 3,845,713 3,586,600 259,113
= 3,845,713

308 AMXSHHSOIA 3,845,713 3,586,600 259,113
= 3,845,713

01 IXSHIAEXZ 3,845,713 3,586,600 259,113
(@NNE=—3=10:] 3,845,713
= 3,845,713

HALEMZ0 X2 924,077 635,990 288,087
= 924,077

308 AXSHHSOIA 924,077 635,990 288,087
= 924,077

01 AXIEMBAEXZ 924,077 635,990 288,087
Odli &HEHHIZ2 O 924,077




SN
X XH .
S Tt

el

SX &2

SN I SRI(S) - NRAY - B 0fl b Soe B RS2

| =2 924,077

ASE NHENE N 25,269, 188 26,173,785 A904,597
= 23,277,858
o= 1,991,330

22 A 11,819,277 13,131,617 A 1,312,340
= 11,000,000
& 819,277

308 AtXIHSO0I & 11,819,277 13,131,617 A 1,312,340
= 11,000,000
& 819,277

01 AXNHHEANEXS 11,819,277 13,131,617 A 1,312,340
OXEIZZ2 ALY 11,819,277
= 11,000,000
= 819,277

NExtadH2Ed XA 1,807,158 1,662,930 144,228
= 1,807,158

308 XX SHHMSO0IA 1,807,158 1,662,930 144,228
= 1,807,158

01 IXNHHBHNEXES 1,807,158 1,662,930 144,228
OXNGX&dH2H 1,807,158
= 1,807,158

eEeig K& 903,000 870,000 33,000
= 903,000

308 AtXIEHH S 01 & 903,000 870,000 33,000
= 903,000

01 IXNHHBESEXS 903,000 870,000 33,000
OXtg Heds 903,000
= 903,000

22580l Y= == =5 A 1,191,000 1,010,190 180,810
= 1,191,000

308 AtXI M SO0 & 1,191,000 1,010,190 180,810
= 1,191,000

01 HXHHBLEEZ 1,191,000 1,010,190 180,810
O22s0 A= 3N LS 1,191,000
= 1,191,000

IbARME EL0IAEHl XI& 571,269 625,095 Ab53,826
= 513,000
& 58,269

308 KX SHHS0IA 571,269 625,095 A53,826
= 513,000
= 58,269

01 IXNHHEHEXES 571,269 625,095 A53,826
OIAtEE 20| AL 571,269
= 513,000

_11_




SN SXEHDY
M 2ol |2

=
el MASE HENE X

S HE S (BH) - MR A Ao gggf; HRS2
[ < 58,269
AHECHE O 3 14,000 14,000 0
307 QI2t0| & 14,000 14,000 0
10 AtSISRIEX 14,000 14,000 0
OXECIAHE 14,000
NS AMSMHEAETAIE = 8,030,934 8,859,953 829,019
= 7,129,660
& 901,274
307 QI2t01 A 210,000 0 210,000
= 147,000
== 63,000
10 AFEISRIE X 210,000 0 210,000
OX S AL HHIA X 210,000
= 147,000
= 63,000
308 KX SISOl A 7,820,934 8,859,953 A 1,039,019
= 6,982,660
= 838,274
01 XXM EAE 7,820,934 8,859,953 A 1,039,019
OX <A A HI 7,820,934
= 6,982,660
== 838,274
AUSATEAS 917,550 0 917,550
= 734,040
= 183,510
307 2I12+01 A 917,550 0 917,550
= 734,040
= 183,510
10 At3ISRIEX 917,550 0 917,550
(@F~N/F==FS PN, 917,550
= 734,040
== 183,510
S=NGNEAH JlsE 15,000 0 15,000
403 X XIS S K20 15,000 0 15,000
01 AHXIEHHI X2 82 15,000 0 15,000
OFFNIE X 15,000
E=MHA X 204,926,921 174,718,391 30,208,530
= 124,024,012
= 80,902,909
Ctest E= MHlA 20 204,926,921 174,718,391 30,208,530
= 124,024,012
= 80,902,909
BRE=SMHIA 31,192,285 30,690,807 501,478
= 21,441,003




SN
X XH .
S Tt

ok

= NEE
ESAHA XY
Crst 2| AHIA =)

_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2

< 9,751,282

307 ©12H0I & 195,236 214,438 A 19,202
= 97.618
= 97,618

PV EES 195,236 214,438 ~19,202
OTHH AN 21| 195,236
= 97,618
[ 97.618

308 XXl EHAI S0l & 30,997,049 30,476,369 520,680
= 21,343,385
[ 9,653,664

01 AR SHHBAEES 30,997,049 30,476,369 520,680
OESSSAHIA 30,997,049
=2 21,343,385
[ 9,653,664

O{ 2101 & X2 4,508,063 2,795,608 1,712,455
= 3,189,884
[ 1,318,179

308 XXl A S0l & 4,508,063 2,795,608 1,712,455
= 3,189,884
[ 1,318,179

01 AR SHBALEES 4,508,063 2,795,608 1,712,455
ORI D7 355,133
= 254,522
[ 100,611
Oxt 2| 358,100
= 241,269
= 116,831
OmMAIZR MY 3,794,830
= 2,694,093
[ 1,100,737

CENEBIEIEES 694,035 1,537,069 843,034
= 462,690
[ 231,345

403 XtXI S S AH2 01 & 694,035 1,537,069 ~843,034
= 462,690
[ 231,345

01 IS =2EE 694,035 1,537,069 843,034
OO0fRI0IT s 694,035
= 462,690
[ 231,345

AL0EsEI 106,335,656 129,841,718 ~23,506,062
=2 75,189,908
[ 31,145,748

308 Xt Xl EHXI S 0| & 106,335,656 129,841,718 ~23,506,062
=2 75,189,908

13 -




SN
X XH .
S Tt

ok

= NEE
ESAHA XY
Crst 2| AHIA =)

_ _ _ Muo
SNBSS - MBAY - BES 01l &4 24 e {imE=Eh
S 31,145,748
01 HXHHBLEES 106,335,656 129,841,718 A 23,506,062
Ogxrot 252 NE 106,261,932
= 75,189,908
< 31,072,024
Oogl=z 252 XN 73,724
FeltE=Ed 25,533,390 0 25,533,390
308 AtXISHMSO0I & 25,533,390 0 25,533,390
01 HXHHBLEEXS 25,533,390 0 25,533,390
Ol HEX& 25,533,390
gL+ 31,498,789 5,589,803 25,908,986
= 22,307,884
< 9,190,905
308 AtXIEHMIS 0l & 31,498,789 5,589,803 25,908,986
= 22,307,884
= 9,190,905
01 HXHHBLEEXS 31,498,789 5,589,803 25,908,986
ONggs=gx=& 31,498,789
= 22,307,884
= 9,190,905
NLESZHEUEH2E 312,000 346,000 A 34,000
= 156,000
< 156,000
307 212tol & 312,000 346,000 A 34,000
= 156,000
< 156,000
10 At S X2 X 312,000 346,000 A 34,000
OZE=SEESIZUHR2Z 312,000
= 156,000
= 156,000
Helol 3 nIALLX2 83,532 93,110 N9,578
= 41,766
S 41,766
307 21Ztol & 83,532 93,110 N9,578
= 41,766
< 41,766
05 BIZtRIE 3 83,532 93,110 N9,578
ONel ol EndAALXA 83,532
= 41,766
= 41,766
EENHNAAS 7,500 10,000 A2,500
307 212+01 7,500 10,000 A2,500
10 A2l S RI2 X 7,500 10,000 A2,500
OEsnXAAS 7,500




SN SXEHDY
M FEAHA AR

el Chest BEsMHA = (9 E2
_ _ _ HET
A -3 -H2A(SH) - HEAMY - BES (il & OH Ofl At ot HwsZ
FO dn=s ¥ 4ZH0Y FAUE =33H 16,000 16,000 0
307 2I2t0l & 16,000 16,000 0
10 B =X 16,000 16,000 0
OFMIdu=sd8ZHHeRNE=25H 16,000
ER0I0 Y AKX 9,000 9,000 0
307 QI2tol A 9,000 9,000 0
10 MBI EXEE 9,000 9,000 0
OE=ele & #AXA 9,000
ERDAAKM LM X 2,654,496 2,558,640 95,856
308 XX SISOl & 2,654,496 2,558,640 95,856
0 IXSHBAEES 2,654,496 2,558,640 95,856
OESnXHIAXMRIMEHIX 2 2,654,496
HIIISA LB+ 2 X 19,740 18,700 1,040
308 XHXI SISOl & 19,740 18,700 1,040
01 AXSHBAEES 19,740 18,700 1,040
OQHEIIIZANE W =2 K& 19,740
Hel ol &2t R0tn=EX& 10,000 15,000 25,000
307 2120l & 10,000 15,000 A5,000
10 MBI =X 10,000 15,000 A5,000
O0eoIEt23E ROt 10,000
OIRI0IE TWIIQIE ZALY 10,000 10,000 0
307 2I2tol ™ 10,000 10,000 0
10 MBI EXEE 10,000 10,000 0
OO0l2I01Z BWIIRIE EHALY 10,000
Z2ZE oR0E 29 1,714,558 1,018,536 696,022
= 1,217,000
= 497,558
308 XHXI XIS Ol & 1,714,558 1,018,536 696,022
= 1,217,000
[ 497,558
01 IXSHBAEES 1,714,558 1,018,536 696,022
O3380eols 2 1,714,558
= 1,217,000
[ 497,558
SSEHOIRIOIZEZ NI X 37,200 0 37,200
403 XHXI SIS XH=2 0l & 37,200 0 37,200
01 HXISHH =T 37,200 0 37,200
OFF=3=1G SNV ESEC D) Full= DA R 37,200
ZOHOIM 20121018 2FA 1A X 54,000 54,000 0
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SN SXEHDY
M FEAHA AR

& st B MHIA B (etel: =3
_ _ _ N E
SNBSS - MBAY - BES 01l &4 24 G {imE=Eh
308 XHAIEHMISO0IE 54,000 54,000 0
01 IXNHHESNEXZ 54,000 54,000 0
OZOOIE20i8l0Id 283 12dHl K& 54,000
HelolE ¥ Ot SAEH2Z HUAE 40,000 40,000 0
307 212+01 A 40,000 40,000 0
10 At S X2 & 40,000 40,000 0
OORI0IE % e SHEUZ oA 40,000
GR=NURSRelFSE PN = PAE=ON b 52,000 0 52,000
308 XX SHHMSOIA 52,000 0 52,000
01 AXHHBAEES 52,000 0 52,000
O0elolEtdaSMESMES 2 52,000
HeOIdRER22LIHEH2 Y 17,877 0 17,877
= 17,877
308 AtXI S MISO0I & 17,877 0 17,877
= 17,877
01 HXHHBAEEXS 17,877 0 17,877
O 0IEREELIHYEHZS 17,877
= 17,877
Helold A3 & AESIIE ZAHIEXI& 126,800 0 126,800
308 XX HHMS0IH 126,800 0 126,800
01 HXHHBAEEZ 126,800 0 126,800
O 0IEAH L ALHSIIE ZAHIEX A 126,800
ME4 - DA HSIIEEH 4,285,800 5,341,000 A 1,085,200
= 35,000
S 4,250,800
SMEAXE 4,285,800 5,341,000 A 1,055,200
= 35,000
< 4,250,800
SNEAS NSAE 4,069,800 5,123,000 A 1,053,200
308 AtXIEMIS 0l & 4,069,800 5,123,000 A 1,053,200
01 HXHHBLEXS 4,069,800 5,123,000 A 1,053,200
OsdtEds N3 4,069,800
ATHOtoI4A oelold 0/0l8gR0E 2dsY K& 40,000 80,000 A 40,000
308 XX SHHMSOIA 40,000 80,000 240,000
01 AXHHBLEES 40,000 80,000 240,000
OATHOF Ol& Oelold DI0I8BERO0IL=EY
A& 40,000
HEA DHASIUHE EE 5,000 11,000 26,000
201 gEt=24Ed| 5,000 11,000 6,000
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SH =SXEHD
B HES - DY USIIYES
ool BAEAT (el @2
_ _ _ Muo
SA B G(E) - NEAY - B 0l & o i HIRE

01 AR 2t eld| 5,000 11,000 6,000
ONS& D3 02 S22 M 5,000

OO D E2Md 227 23 70,000 80,000 A 10,000
= 35,000
L= 35,000

307 2I2toI & 70,000 80,000 A 10,000
= 35,000
& 35,000

10 AtRIS X2 X 70,000 80,000 A 10,000
Ootolg)l Z2HY 2ERS 29 70,000
=2 35,000
= 35,000

SHEHEXE st HHBW= 95,000 40,000 55,000

307 2I2toI & 95,000 40,000 55,000

10 At2ISR2 X 95,000 40,000 55,000
OHEISXE <8t HYDS 45,000
OMEL S =20 HHZotSHAALY 30,000
HBEXNZ0 Exus S AH2e| A 20,000

=3 RS AAl 6,000 6,000 0

307 212tol ™ 6,000 6,000 0

10 AlRIS X2 X 6,000 6,000 0
O3l AFUFE AA 6,000

HEY2HZH (S H M) 92,724 84,813 7,911

Jl=&4l 92,724 84,813 7,911

JI=&Hl 92,724 84,813 7,911

201 et A | 20,664 19,803 861

01 AR 2teld| 20,664 19,803 861
OJlZ2=2H| 8,688
OJl==EHl 11,976

202 (44l 45,360 43,470 1,890

01 SLHAObI 45,360 43,470 1,890
OJ1=2 0 45,360

203 R =2 22,200 21,540 660

01 71228 P 2=48H 6,600 5,940 660
OZA=N2 6,600

04 REA2EHRFEH 15,600 15,600 0
O=xEHY 4,200
O I Z 00l It 4,200
@)-Fabskinl 4,200
OAlSZoEoHd It 3,000
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A SAEH L
M HHSHAH| (22X M)
el JI23l

SH-EH . O3 - MBAY - BAS 0l &b o Soe HRSZ
405 RtaHFE S| 4,500 0 4,500
01 AN Z2EFH S| 4,500 0 4,500
Os A A=Y 4,500
MNEEs 30,705,586 26,000,000 4,705,586
HEHAH KIS 30,705,586 26,000,000 4,705,586
WEAHAH XIS 30,705,586 26,000,000 4,705,586
701 JIEISIHNEZ 30,705,586 26,000,000 4,705,586
01 JIEtSI H N ES 30,705,586 26,000,000 4,705,586
OAzZ3HELEIH dE 30,705,586
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